

Company Name: Lincoln County School District  
 Contact: Joshua Bates  
 Email: [joshua.bates@lincoln.k12.or.us](mailto:joshua.bates@lincoln.k12.or.us)  
 Phone: (541) 265-3231



Account Executive: Collin Hughes  
 9675 SE 36th St, Ste 110 - Mercer Island, WA 98040 - 206.370.4109  
 Toll Free 800.881.0962 - Order Fax 888.729.0997

| Line Item  | Part Number | Description   | Qty. | Unit Sale Price | Ext. Sale Price            |
|--|-------------|---|------|-----------------|----------------------------|
| <b><u>Lincoln County SD - Juniper Wired &amp; Wireless Project</u></b> |             |   |      |                 |                            |
| *Priced Per NASPO Contract AR3232, Plus Additional Discounts           |             |   |      |                 |                            |
| 1  |             | Juniper – (x15) EX4100 48-Port Multi-Gig Switch, (x15) US C13 Power Cords, (x15) 920W AC PSUs & (x30) 1m 25G SFP28 DAC Cables                                       |      |                 | \$57,005.25                |
| 2  |             | Juniper – (x15) EX4100-48MP Wired Assurance & VNA Subscription – 3 Year Term  |      |                 | \$8,393.10                 |
| 3  |             | Juniper – (x2) EX4400-24X Switch, (x2) US C13 Power Cords, (x2) 550W AC PSUs & (x2) 1m 100G QSFP28 DAC Cables   |      |                 | \$11,663.12                |
| 4  |             | Juniper – (x2) EX4400-24X Advanced Software Licenses (Class 2, Perpetual) & (x2) EX4400-24X Wired Assurance & Virtual Network Assistant Subscriptions – 3 Year Term |      |                 | \$2,188.22                 |
| 5  |             | Juniper – (x2) EX4000-12MP 12-Port Multi-Gig Switch & (x2) EX4000 Wall Mount Kits   |      |                 | \$1,417.82                 |
| 6  |             | Juniper – (x2) EX4000-12MP Wired Assurance & Virtual Network Assistant (VNA) Subscription – 3 Year Term   |      |                 | \$509.58                   |
| 7  |             | Juniper – (x53) AP36 Premium Performance Wi-Fi 7 & (x53) AP36 Subscriptions for 2 Services – 3 Year Term  |      |                 | \$43,805.03                |
| 8  |             | Juniper – (x17) AP47 Premium Performance Wi-Fi 7 & (x17) AP47 Subscriptions for 2 Services – 3 Year Term  |      |                 | \$18,972.17                |
| 9  |             | Juniper – (x10) 10G SFP+ MMF Cables   |      |                 | \$1,664.30                 |
| 10   |             | Juniper – (x6) AP66 Premium Performance Wi-Fi 7, (x6) Flush Mount Bracket & (x6) AP66 Subscriptions for 2 Services – 3 Year Term                                    |      |                 | \$6,424.02                 |
|  |             | Ground Shipping:  |      |                 | \$0.00                     |
| <b><u>GRAND TOTAL:</u></b>   |             |   |      |                 | <b><u>\$152,042.61</u></b> |

*\*Juniper/Mist policy states that all orders placed are non-returnable/non-cancelable*

| Line Item   | Part Number        | Description   | Qty. | Unit Sale Price | Ext. Sale Price           |
|---|--------------------|---|------|-----------------|---------------------------|
| <b>Solution Line Item Detail:</b>   |                    |   |      |                 |                           |
| <b><u>Juniper – (x15) EX4100 48-Port Multi-Gig Switch, (x15) US C13 Power Cords, (x15) 920W AC PSUs &amp; (x30) 1m 25G SFP28 DAC Cables</u></b>   |                    |   |      |                 |                           |
| 11  | EX4100-48MP        | EX4100 48-PORT MULTI-GIG POE  | 15   | \$3,314.98      | \$49,724.70               |
| 12  | CBL-PWR-C13-US-48P | 2.5M STRAIGHT C13 15A/125V POWER CORD AC US/CANADA                  | 15   | \$18.45         | \$276.75                  |
| 13  | JPSU-920-AC-AFO    | EX3400 920W AC PS FRONT-TO-BACK AIRFLOW PWR CORD ORDERED SEPARATELY | 15   | \$388.52        | \$5,827.80                |
| 14  | JNP-SFP-25G-DAC-1M | 1M PASSIVE SFP 25GBASE DIRECT ATTACH COPPER CABLE                   | 30   | \$39.20         | \$1,176.00                |
| <b><u>Subtotal</u></b>  |                    |   |      |                 | <b><u>\$57,005.25</u></b> |
| <b><u>Juniper – (x15) EX4100-48MP Wired Assurance &amp; VNA Subscription – 3 Year Term</u></b>  |                    |   |      |                 |                           |
| 15  | SUB-EX48-2S-3Y-COR | 3YR / 2 SVC WIREDASSUR SUB EX48 INCL J-CARE CORE FOR EX23 34 43     | 15   | \$559.54        | \$8,393.10                |
| <b><u>Subtotal</u></b>  |                    |   |      |                 | <b><u>\$8,393.10</u></b>  |
| <b><u>Juniper – (x2) EX4400-24X Switch, (x2) US C13 Power Cords, (x2) 550W AC PSUs &amp; (x2) 1m 100G QSFP28 DAC Cables</u></b>   |                    |   |      |                 |                           |
| 16  | EX4400-24X         | 24X10GBASEX SWITCH W/ 2X100G  | 2    | \$5,479.93      | \$10,959.86               |
| 17  | CBL-EX-PWR-C13-US  | US POWER CABLE  | 2    | \$17.29         | \$34.58                   |
| 18  | JPSU-550-C-AC-AFO  | 550W COMPACT AC AFO PS FOR EX4400 SWITCHES                          | 2    | \$237.50        | \$475.00                  |
| 19  | JNP-100G-DAC-1M    | QSFP28 TO QSFP28 ETHERNET DIRECT ATTACH COPPER TWINAX CU            | 2    | \$96.84         | \$193.68                  |
| <b><u>Subtotal</u></b>  |                    |   |      |                 | <b><u>\$11,663.12</u></b> |
| <b><u>Juniper – (x2) EX4400-24X Advanced Software Licenses (Class 2, Perpetual) &amp; (x2) EX4400-24X Wired Assurance &amp; Virtual Network Assistant Subscriptions – 3 Year Term</u></b> |                    |   |      |                 |                           |
| 20  | S-EX-A-C2-P        | SW EX A C2 PRPL   | 2    | \$599.51        | \$1,199.02                |
| 21  | SUB-EX24-2S-3Y-N   | 3YR SUB WAANDVNA SVC ND F/ EX24 PORT SWITCHES                       | 2    | \$494.60        | \$989.20                  |
| <b><u>Subtotal</u></b>  |                    |   |      |                 | <b><u>\$2,188.22</u></b>  |

| Line Item  | Part Number        | Description  | Qty. | Unit Sale Price | Ext. Sale Price           |
|--|--------------------|--|------|-----------------|---------------------------|
| <b><u>Juniper – (x2) EX4000-12MP 12-Port Multi-Gig Switch &amp; (x2) EX4000 Wall Mount Kits</u></b>                        |                    |  |      |                 |                           |
| 22   | EX4000-12MP        | EX4000 12P MULTI-GIG WITH 4X 100M/1G/2.5GBASET 8X 10/100/1000BAS | 2    | \$690.46        | \$1,380.92                |
| 23   | EX4000-WMK         | WALL MOUNT KIT FOR EX4000-8P EX4000-12T EX4000-12P AND EX4000-12 | 2    | \$18.45         | \$36.90                   |
| <b><u>Subtotal</u></b>   |                    |  |      |                 | <b><u>\$1,417.82</u></b>  |
| <b><u>Juniper – (x2) EX4000-12MP Wired Assurance &amp; Virtual Network Assistant (VNA) Subscription – 3 Year Term</u></b>  |                    |  |      |                 |                           |
| 24   | SUB-EX12-2S-3Y-COR | 3YR / 2 SVC WIREDASSUR SUB EX12 INCL J-CARE CORE FOR EX23 34 43  | 2    | \$254.79        | \$509.58                  |
| <b><u>Subtotal</u></b>   |                    |  |      |                 | <b><u>\$509.58</u></b>    |
| <b><u>Juniper – (x53) AP36 Premium Performance Wi-Fi 7 &amp; (x53) AP36 Subscriptions for 2 Services – 3 Year Term</u></b> |                    |  |      |                 |                           |
| 25   | AP36-US            | MIST AP36 INT ANTENNA -US ONLY                                   | 53   | \$516.77        | \$27,388.81               |
| 26   | SUB-2S-3Y          | 3YR / 2SVC CLOUD SUB FOR 1 AP CLOUD FUNCTIONS WARRANTY           | 53   | \$309.74        | \$16,416.22               |
| <b><u>Subtotal</u></b>   |                    |  |      |                 | <b><u>\$43,805.03</u></b> |
| <b><u>Juniper – (x17) AP47 Premium Performance Wi-Fi 7 &amp; (x17) AP47 Subscriptions for 2 Services – 3 Year Term</u></b> |                    |  |      |                 |                           |
| 27   | AP47-US            | MIST AP47 INT ANTENNA W/VBLE-US ONLY                             | 17   | \$806.27        | \$13,706.59               |
| 28   | SUB-2S-3Y          | 3YR / 2SVC CLOUD SUB FOR 1 AP CLOUD FUNCTIONS WARRANTY           | 17   | \$309.74        | \$5,265.58                |
| <b><u>Subtotal</u></b>   |                    |  |      |                 | <b><u>\$18,972.17</u></b> |
| <b><u>Juniper – (x10) 10G SFP+ MMF Cables</u></b>  |                    |  |      |                 |                           |
| 29   | SFP-10G-LRM-C      | SFP+ 10G MMF 220M AND SMF 300M STD TEMP 5-85 DEG C DUPLEX LC     | 10   | \$166.43        | \$1,664.30                |
| <b><u>Subtotal</u></b>   |                    |  |      |                 | <b><u>\$1,664.30</u></b>  |

| Line Item   | Part Number | Description   | Qty. | Unit Sale Price | Ext. Sale Price          |
|---|-------------|---|------|-----------------|--------------------------|
| <b><u>Juniper – (x6) AP66 Premium Performance Wi-Fi 7, (x6) Flush Mount Bracket &amp; (x6) AP66 Subscriptions for 2 Services – 3 Year Term</u></b>          |             |   |      |                 |                          |
| 30  | AP66-US     | MIST AP66 OUTDOOR INT ANTENNA<br>US ONLY                  | 6    | \$719.43        | \$4,316.58               |
| 31  | APOUTBR-FM  | FLUSH MNT BRACKET OTDR AP<br>WALL POLE MOUNTING           | 6    | \$41.50         | \$249.00                 |
| 32  | SUB-2S-3Y   | 3YR / 2SVC CLOUD SUB FOR 1 AP<br>CLOUD FUNCTIONS WARRANTY | 6    | \$309.74        | \$1,858.44               |
| <b><u>Subtotal</u></b>  |             |   |      |                 | <b><u>\$6,424.02</u></b> |
| <p><b><u>Prepared by: Zack Garnett</u></b><br/> <b>Please contact the person listed above at Structured for any questions regarding this quotation.</b></p> |             |   |      |                 |                          |

| Line Item  | Part Number  | Description | Qty. | Unit Sale Price | Ext. Sale Price |
|--|--|-------------|------|-----------------|-----------------|
| <b>Notes:</b>  |  |             |      |                 |                 |
| 1.   | Client acknowledges and agrees that the by signing this quotation, issuing a purchase order referencing this quotation, or otherwise accessing or utilizing the solution outlined in this quotation that the Structured Communication Systems, Inc. Standard Terms and Conditions, which can be found at <a href="http://www.structured.com/terms/">http://www.structured.com/terms/</a> , apply to this and all quotations.   |             |      |                 |                 |
|  | Further, the Client acknowledges and agrees that the use, title, interest, rights and warranties associated with the solution outlined in this quotation are governed by the applicable manufacturer end-user license agreement, software license agreement, subscription agreement, warranty terms and/or maintenance/support contract.   |             |      |                 |                 |
| 2.   | Prices do not include shipping charges. All shipping charges are FOB origin and will be added at time of invoice. Prices do not include Sales Tax. Sales tax rates are an estimate and are subject to change. Rates are dictated by the state into which the solution is being shipped. Freight may be taxable, depending upon state regulations. Please note that pricing outlined in this quotation does not include tariffs or any other international or national tax or duty (if any) that may be levied against some or all of the products by the applicable manufacturer at the time of procurement by Structured for the benefit of the Client. As such, any such tariffs, taxes or duties are the sole responsibility of the Client and will be passed through by Structured to the Client at the time of invoicing. |             |      |                 |                 |
| 3.   | Net 20 day terms are available with approved credit. Structured will accept pre-payment or Visa/MasterCard without approved credit; please note that all credit card transaction will also incur a three percent (3%) transaction fee. All quotes and proposals are calculated using US Dollars.   |             |      |                 |                 |
| 4.   | Quotes are valid for 30 days. Structured reserves the right to adjust prices at any time according to manufacturer price changes or material changes in circumstances that affect the scope of services proposed herein. In the event that the expiration date has been exceeded, please contact your Account Representative for an updated quote.   |             |      |                 |                 |
| 5.   | <b>Remit To Address:</b> 9200 SE Sunnybrook Blvd., Suite 300, Clackamas OR, 97015  |             |      |                 |                 |
| This quotation contains information that is privileged and confidential. The information contained in this quotation is intended only for use of the person to whom it is addressed. If the reader of this quotation is not (1) the intended recipient or (2) the employee or agent responsible to deliver it to the intended recipient, you are hereby notified that any dissemination, distribution or copying of this communication is strictly prohibited. |  |             |      |                 |                 |

### **WHEN PLACING YOUR ORDER, PLEASE FAX OR EMAIL TO: 888-729-0997 or [orders@structured.com](mailto:orders@structured.com)**

**Please fill out all of the below information to ensure that your order is processed as efficiently as possible.**

Signature: \_\_\_\_\_ Date: \_\_\_\_\_

**Shipping Address:**

**Billing Address:**

Street:

City, ST Zip:

Contact:

Phone:

Email:

Preferred Shipping Method: **Ground** \_\_\_\_\_

**2nd Day** \_\_\_\_\_

**Oversight** \_\_\_\_\_

Date Needed:

**Customer Reference / Purchase Order Number:** \_\_\_\_\_

**Bridging People, Business & Technology**

Ask us about our high-quality Internet Security, Connectivity, Storage and Access Offerings...